t R n F I S M H N® F1676 Fill in the following information and save this manual for future reference.

Model #

PROFESSIONAL
Place of purchase

Professional Series Chests and Roller Cabinets
Operator’'s Manual Date of purchase

SAFETY

SAFETY WARNINGS AND CAUTIONS:

The maximum weight for each (2) inch deep drawer is (120) pounds.

The maximum weight for each drawer (3) inches deep or more is (200) pounds.
The maximum weight for the top (4) inch drawer on roller cabinets is (320) pounds.
The maximum weight for each drawer (9) inches deep or more is (400) pounds.
The work surface must be removed if a chest is placed on top of a cabinet.
Stacked products should be bolted together. The products could become unstable
and tip, which may cause personal injury or product damage.

* DO NOT stand on this product. You may fall which may cause personal injury.

« DO NOT step in the drawers. You may fall which may cause personal injury.

. 37. Capmgt 37" Chest + WEAR SAFETY GLASSES when removing or repositioning the slides. The tool
Maximum weight limit (1800 Ibs. 56" Chest could slip which may cause personal injury.
56" Cabinet 75" Chest - WEAR SAFETY GLASSES AND BE CAREFUL when repairing or servicing the
Maximum weight limit (4800) Ibs. product. The spring-loaded parts may cause personal injury.
75" Cabinet « BE CAREFUL when opening more than one drawer. The product may become
Maximum weight limit (5600) Ibs. unstable and tip, which may cause personal injury or product damage.
94" Cabinet ) « DO NOT mount this product on a truck bed or any other moving object. This may

cause personal injury or product damage.

« Appropriately secure this product before moving it with a forklift.

» Lock the drawers and doors before moving this product. The drawers or doors
could come open and make the product unstable and tip, which may cause
personal injury or product damage.

+ DO NOT aiter this product in any manner. For example, do not weld external
lockbars or attach electrical equipment. This may cause product damage or
personal injury.

« When moving this product, do not pull it. Push the product to prevent personal
injury.

« USE THE BRAKES when not moving this product. This will prevent the product
from rolling, which may cause personal injury or product damage.

« DO NOT tow with power equipment. The product could tip, which may cause
personal injury or product damage.

« Keep the product on level surfaces. The product may become unstable and tip if
stored or moved on an un-level surface, which may cause personal injury or

24" Side Locker product damage.

24" Side Cabinet 30" Side Locker

Maximum weight limit (7200) Ibs.

30" Side Cabinet

Caution: Read and follow all Safety Rules and Operating Instructions before first
use of this product. Retain this document for future reference.

Distribuido por Sears Brands Management Corporation, Hoffman Estates, IL 60179 F1676 2



Call 1-800-4MY-HOME (1-800-469-4663) for Service Parts.
Refer to Service Parts Drawing for full listing of Service Parts.

HARDWARE :

1/4-20 X 7/16
Hex Screw

#14-10 X 5/8
Hex Screw

5/16-18 x 1
Hex Screw

ASSEMBLY

SIDE HANDLE ATTACHMENT:

NOTE: Holes in the unit are tapped requiring

no nuts for installation.

+ Attach each handle using four 1/4-20 x 5/8
screws. Tighten with a screwdriver.

+ Install hole plugs over screws.

1/4-20 x 5/8

Handle

« To remove, reverse the procedure.
+ Handles are attached to both sides.

SIDE CABINET - SIDE LOCKER

ATTACHMENT:

+ Remove the handle from the side of the
cabinet that the side cabinet will hang
from. (See side handle attachment.) The
handle will be reattached to end of the
side cabinet.

« Attach (2) support brackets to the tapped
holes in the underside of roller cabinet,
using (2) 5/16-1/8 hex screws in each
bracket.

Hole plug

Re-keying tool
supplied with keys

Brackets

5/16-18X1 -
hex screw

SIDE CABINETS:

« Take the removable top off of the side
cabinet.

+ Place side cabinet on lower bracket, as
shown. {(Note: Use adequate personnel
for this operation.)

» Hook upper bracket over edges of roller
cabinet and side cabinet.

+ Attach upper bracket to top of side
cabinet with (2) 5/16-18 x 1 hex screws.

5/16-18X1
hex screw

SIDE LOCKERS

OPTION 1:

Mounting side locker to roller cabinets
with canopy.

To mount side locker to roller cabinets
without a canopy, go to option 2.

« Attach upper mounting bracket to side

locker using (2) 5/16-18 X 1 hex screws.

Note: use back holes in each set. Screws

should be in center of slots in upper

mounting bracket to allow for adjustment.

* Wrench tighten. (Screws may be
loosened later to adjust side locker
location.)

#14-10 x 5/8
hex screws

5/16-18 x 1
hex screws "
S

3/16" pilot
holes

» Place the side locker on lower brackets
and position as desired. (Note: Use
adequate personnel for this operation.)

» Mark (2) pilot hole locations on canopy
using square holes in top bracket as a
template.

» Move side locker for access.

 Drill (2) 3/16" pilot holes in canopy top.

+ Reposition locker and attach upper
bracket to canopy using (2) #14-10 X
5/8" screws.

» Wrench tighten. (Do not overtighten.)

» Loosen screws holding top bracket to
side locker and adjust if desired.

« Wrench tighten screws.

Option 2:
Mounting side lockers to roller cabinets
without a canopy.

Attach hanger bracket to side locker
using (4) 1/4-20 X 7/16 hex screw as
shown. Note: use back holes in each set.
Wrench tighten.

1/4-20X7/16
hex screw

Hanger
bracket ™

Hook hanger bracket over edge of roller
cabinet and place bottom edge of locker
in notches of lower brackets. (Use
adequate personnel for this operation.)

OPERATION

REMOVING AND INSTALLING
DRAWERS:

Note: The drawers in these units can be
rearranged to fit your specific needs.This
means that drawers may be moved or

replaced as desired. For example, a 6-inch
drawer may be replaced by a 2-inch and a 4-
inch drawer, or three 2-inch drawers. The
quick release slides detach easily from the

drawers and the unit.

Empty the drawer.

Fully extend the drawer.

Lever Style-Lift the release lever on the right
side, while depressing the lever on the left
side, (this allows the slides to ride over the
stops). Pull out to remove.

Tab Style-Depress the release tab on both
sides, (this allows the slides to ride over the
stops).

Pull out to remove.

To reinstall, push the drawer into the slides
until the drawer stops.

Shallow drawers in doored units may be
inverted as a roll out shelf.



MASTER LOCK ® ONE-KEY ™ LOCK

Locking the unit

+ Make sure drawers are fully closed.

* Insert the key and turn fully to the left.

» Return key to center position to remove key.

Unlocking the unit

* Insert the key and turn fully to the right.

» Return key to center position to remove key.

Rekeying

The MASTER LOCK ® ONE-KEY™ learning lock

system allows the chest and cabinet to be keyed

alike. The lock can also be keyed to Kwikset ®

style house keys.

+ Insert current key and turn lock to the right
until access notch appears at top of lock.

» Depress and hold catch through access notch
using re-keying tool provided.

+ Remove key.

+ Insert new key.

» Release cafch.

* Turn lock to center position.

+ Remove key

Note: Catch must be depressed to insert or

remove key in right hand position. Catch may be

released between keys.

Access notch

Re-keying tool

MAINTENANCE

With proper care, your tool storage unit will
give you a lifetime of service. Use the
recommended lubrication chart and care
instructions to maintain the investment you
have made. These units are rust protected
with a phosphate undercoat and covered
with a durable finish. The paintis
electrically adhered to the metal. With
proper care your unit will look attractive for
many years.

Periodically the drawer fronts, drawer
trim, and other surfaces should be
cleaned with a mild detergent and water
to keep them looking new.

Auto wax will preserve the storage unit's
high luster finish. Apply the wax as you
would to your car. The wax will help
protect the unit against scratches.
Grease and oil can be removed with
most standard cleaning fluids. For
safety, use a nonflammable cleaning
fluid.

We supply and recommend drawer liners
to protect the finish inside the drawers
and make them easier to clean. Drawer
liners may be cleaned with soap and
water.



CRAFTSMAN

PROFESSIONAL

Cajas portaherramientas y gabinetes rodantes de tipo profesional

Manual de usuario

37" Armario

El limite de PESO MAXIMO (817,2) kg.
56"Armario

El limite de PESO MAXIMO (2179,2) kg.
75" Armario

El limite de PESO MAXIMO (2542,4) kg.
94"Armario

El limite de PESO MAXIMO (3268,8) kg.

24" Gabinete latera
30" Gabinete lateral

37" Baul
56" Baul
75" Baul

Locker lateral de (24) pulgadas (61 cm.)
Locker lateral de (30) pulgadas (77 cm.)

Precaucion: Lea y siga todas las reglas de seguridad e instrucciones para el
manejo antes de usar la unidad por primera vez. Conserve este manual para

referencia futura.

Distribuido por Sears Brands Management Corporation, Hoffman Estates, IL 60179 F1676

Rellene la informacién siguiente y guarde este manual para future
referencia.

Lugar de compra

Fecha de compra

Modelo No

SEGURIDAD

ADVERTENCIAS Y PRECAUCIONES DE SEGURIDAD:

El peso maximo por cada gaveta de 2 pulgadas (5 cm) es 120 libras (54,4 kg).

El peso maximo por cada gaveta de 3 pulgadas (5 cm) es 200 libras (90,7 kg).

El peso maximo por cada gaveta de 4 pulgadas (10 cm) es 320 libras (145 kg).

El peso maximo por cada gaveta de 9 pulgadas (22,5 cm) es 400 libras (181 kg).
Se debe quitar la superficie de trabajo si se pone una caja portaherramientas
encima de un gabinete. Los productos apilados deben empernarse entre si. Estos
podrian perder el equilibrio y volcarse, lo cual podria causar lesiones personales o
dafios al prod.

NO se ponga de pie sobre la unidad. Podria caerse y lesionarse.

NO se ponga de pie en las gavetas. Podria caerse y lesionarse.

USE GAFAS DE SEGURIDAD al quitar o volver a poner las correderas. Se podria
resbalar la herramienta y causar lesiones personales.

USE LAS GAFAS DE SEGURIDAD Y TENGA CUIDADO al reparar o manteniendo
el producto. Las piezas por resorte pueden causar dafios corporales.

SEA CUIDADOSO cuando abra mas de una gaveta. Las unidades podrian quedar
inestables y volcarse, lo cual podria ocasional lesiones personales o dafio a la
unidad.

NO monte esta unidad en la plataforma de carga de la camioneta ni en ningun otro
objeto movil. Podria causar lesiones personales o dafio a la unidad.

Asegure adecuadamente la unidad antes de moverla con un montacargas.
Asegure las gavetas y puertas antes de mover este producto. Estas se podrian
abrir y hacer que el producto quede inestable y se vuelque, lo cual podria causar
lesiones personales o dafios al producto.

NO altere la unidad en modo alguno. Por ejemplo, no suelde las barras de
sujecion externas ni le incorpore equipos eléctricos. Podria causar dafio a la
unidad o lesiones personales.

Cuando mueva la unidad, no la hale. Empujela para evitar lesiones personales.
UTILICE LOS FRENOS cuando el producto no esté en movimiento. Esto impedira
que se deslice, lo que podria causar lesiones personales u ocasionar dafios al
producto.

NO arrastre la unidad con equipo eléctrico. La unidad podria volcarse, lo cual
podria ocasional lesiones personales o dafio a la unidad.

Mantenga el producto sobre superficies planas. El producto puede
desestabilizarse y volcar si se almacena o se mueve en superficies no Hanas, lo
cual podria causar lesiones personales o dafiar el producto.




Llame al 1-800-659-7084 para las piezas de repuesto.
Refiérase al plano de piezas de repuesto para la lista completa de repuestos.

QUINCALLERIA:

Tornillo Hexagonal

de 1/4-20 X718 Enchufe del agujero

TORNILLO

HEXAGONAL DE Herramienta para

14-10 X 5/8 .
reprogramar el cilindro
Que se suministra con

Tornillo llaves

hexagonal de

5/16-18 x 1

ENSAMBLAJE
INSTALACION DE LA MANIJA
LATERAL.:

NOTA: Los agujeros en el gabinete estan roscados y |

Soporte

no necesitan tuercas para la instalacion. | 7
* Instale (1) manija en cada extremo del badl, utilizando

(4) tornillos 1/4-20 x 5/8 en cada manija. Apriete los

torniflos.

\

* Instale los enchufes del agujero sobre los tornillos.

de 5/16-18 x 1

GABINETE LATERAL:

+ Retire la parte superior desprendible del gabinete
lateral.

+ Coloque el gabinete lateral en el soporte inferior,
como se ilustra. (Nota: Use personal adecuado para
esta tarea.)

+ Enganche el soporte superior sobre los extremos del
gabinete rodante y del gabinete lateral.

+ Ate el soporte superior a la tapa del gabinete lateral
con (2) los tornillos de 5/16-18 x 1 maleficio.

Tornillo hexagonal
de 1/4-20 X 5/8

Enchufe del agujero

Tornillo hexagonal
de 5/16-18 x 1

Soporte

* Para quitarlo, deshaga los pasos anteriores.

* Las manijas se atan a ambos lados.

GABINETE LATERAL-COLOCACION DE ARMARIO
LATERAL:

* Retire la manija del costado del gabinete rodante del

cual se fijara el gabinete lateral. La manija se volvera a
fijar al extremo del gabinete lateral.

* Ate (2) los soportes a los agujeros golpeados
ligeramente en el superficie inferior del gabinete del
rodillo, usando (2) 5/16-1/8 tornillos del maleficio en
cada soporte.

ARMARIO LATERAL

QOPCION (1):

Armario lateral del montaje a los gabinetes del rodillo

con el pabellén.

Para montar el armario lateral a los gabinetes del rodillo sin

un pabellén, vaya a la opcién 2.

+ Ate la consola de montaje superior al armario lateral
usando (2) los tornillos de 5/16-18 x 1 maleficio.

Nota: utilice detras los agujeros en cada sistema. Los

tornillos deben estar en el centro de ranuras en la consola

de montaje superior a tener en cuenta el ajuste.

+ Lallave aprieta. (Los tornillos se pueden aflojar més
adelante para ajustar la localizacion lateral del armario.)

TORNILLO HEXAGONAL DE
14-10 X 5/8

Tornillo hexagonal de
5/16-18 x 1 ~

3/18" Agujero
piloto

+ Coloque el armario lateral en soportes mas bajos y
coloquelo segun lo deseado. {(Nota: Utilice los
personales adecuados para esta operacion.)

+« Marque (2) las localizaciones experimentales del agujero
en el pabellén usando las perforaciones rectangulares
en soporte superior como plantilla.

+ Mueva el armario lateral para el acceso.

+ Taladro (2) 3/16" agujeros experimentales en tapa del
pabelién.

+ Coloque el armario de nuevo y ate el soporte superior al
pabellén usando (2) #14-10 x 5/8" tornillos.

« Ajuste con la llave. (No apriete demasiado.)

+ Afloje los tornillos que sostienen el soporte superior para
echar a un lado armario y para ajustar si esta deseado.

« Apriete los torniflos.

QOpcidn (2):

Armarios laterales del montaje a los gabinetes del

rodillo sin un pabelion.

+ Ate el soporte de la suspensién al armario lateral
usando (4) 1/4-20 x 7/186 tornillo del maleficio como
se muestra. Nota: utilice detras los agujeros en cada
sistema.

+ Ajuste con la llave.

Tornillo Hexagonal
de 1/4-20 X 7/16

Soporte
colgador .

* Soporte de la suspension de gancho sobre el borde
del gabinete del rodillo y del borde inferior del lugar
del armario en las muescas de soportes mas bajos.
(Personales adecuados del uso para esta operacién.)

FUNCIONAMIENTO

REMOCION E INSTALACION DE GAVETAS:

Nota: Los cajones en estas unidades se
pueden cambiar para caber sus necesidades
especificas. Esto significa que los cajones se
pueden mover o substituir segtn lo deseado.
Por ejemplo, un cajon de 6 pulgadas se
puede substituir por cajones de 2 pulgadas y
un cajon de 4 pulgadas, o tres de 2 pulgadas.
Las diapositivas del lanzamiento rapido
separan facilmente de los cajones y de la
unidad.

+ Vacie la gaveta.

+ Abra completamente la gaveta.

+ Estilo palanca — Levante o baje (dependiendo de la
corredera) la palanca de liberacién en ambos lados
(esto permite que las correderas pasen sobre los
topes.) Hale hacia afuera para retirar.

Estilo lengiieta — Oprima las lengletas de liberacién
en ambos lados {esto permite que las correderas
pasen sobre los topes.) Hale hacia afuera para retirar.

+ Hale hacia afuera para retirar.

« Para reinstalar, alinee cuidadosamente las placas y
lentamente empuje la gaveta dentro la unidad hasta
que la misma se detenga.

+ Los cajones bajos en unidades doored se pueden
invertir como estante del desarroflo.



CERRADURA MASTER LOCK ® ONE-KEY™

Como bloguear la unidad

+« Compruebe que las gavetas estén completamente
cerradas.

« Inserte la llave y gire completamente hacia la izquierda.

+ Regrese la llave a la posicién central para retirar la flave.

Desblogueo de la unidad

« Inserte la llave y gire completamente hacia la derecha.

+ Regrese la llave a la posicién central para retirar la lave.

Reprogramacion del cilindro

El sistema de cerradura MASTER LOCK® ONE-KEY™

permite que el bauly el gabinete operen con la misma llave.

La cerradura se puede también afinar a las llaves de la

casa del estilo del ® de Kwikset.

« Inserte la llave actual y gire la cerradura hacia la derecha
hasta que la muesca de acceso aparezca en la parte
superior de la cerradura.

+ Oprima y sostenga el fiador a través de la muesca de
acceso utilizando la herramienta para reprogramar que
se suministra.

« Retire la llave.

« lInserte la nueva llave.

« Libere el fiador.

« Gire la cerradura a la posicién central.

« Retire la llave.

Nota: El fiador deberd oprimirse para insertar o retirar la

llave en la posicién hacia la derecha. El fiador puede

liberarse entre las llaves.

Muesca de
acceso

reprogramar el
cilindro

ENIMIENTO

Con cuidado apropiado, su unidad de aimacenaje de la
herramienta le dara un curso de {a vida del servicio.
Utilice las instrucciones recomendadas de la carta y de
cuidado de la lubricacién de mantener la inversién que
usted ha hecho. Estas unidades son moho protegido con
un undercoat del fosfato y cubierto con un final durable.
La pintura se adhiere eléctricamente al metal. Con
cuidado apropiado su unidad parecera atractiva durante
muchos afios.

« Limpie con detergente suave y agua los frontales y los
bordes laterales de los cajones y las demés
superficies.

+ La cera para automoéviles preservara el acabado
brilloso de la unidad. Aplique la cera como lo haria al
carro. La cera también ayudara a proteger la unidad
contra raspones.

« La grasa y el aceite pueden retirarse con la mayoria
de los liquidos estandar para limpieza. Por razones de
seguridad, utilice un liquido incombustible para
limpieza.

+ Suministramos y recomendamos trazadores de lineas
del cajén para proteger el final dentro de los cajones y
para hacerlos mas faciles limpiar. Los forros para
gavetas pueden limpiarse con agua y jabén.

erramienta para



